أسئلة اختبار الرياضيات التحريري للصف الثاني  للعام 1435- 1436هـ 
السؤال الأول  : اختر الإجابة الصحيحة فيما يلي  :-                   الاسم :-..............................................
	1
	أجد ناتج الطرح  :-                                             9 -  6 =

	
	أ
	1
	ب
	2
	ج
	3

	

	2
	أجد ناتج الطرح  :-                                             14 -  7 =

	
	أ
	5
	ب
	7
	ج
	6

	

	3
	أجد ناتج الجمع  :-   


	
	أ
	80
	ب
	70
	ج
	60

	

	4
	أجد ناتج الجمع  :-   



	
	أ
	21
	ب
	31
	ج
	11

	

	5
	أجد ناتج الجمع  :-   


	
	أ
	74
	ب
	75
	ج
	76

	

	6
	أجد ناتج الطرح  :-


	
	أ
	50
	ب
	60
	ج
	70

	

	7
	أجد ناتج الطرح  :-


	
	أ
	44
	ب
	22
	ج
	33

	

	8
	أجد ناتج الطرح  :-


	
	أ
	55
	ب
	57
	ج
	56

	

	9
	أجد ناتج الطرح  :-



	
	أ
	49
	ب
	39
	ج
	29

	

	10
	أجد ناتج الجمع  :-



	
	أ
	81
	ب
	82
	ج
	83





20








20





3 


5














    2   9   


-   6   3   





    4   2   


 -  2      





    0   9   


-   0   4   





    9   2   


+   7   4   





    0   6   


+  0   2   





    4   2   


+   7      





    4   8   


-   5   3   





    8   4   


+  5   3   








